XYZ,,=102.06 , 100.0 , 81.06
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8= a, [ (x=x) /) 1

bz bylz/y 1
3=1 by=-04 61Gy p
%= 0,110, B, = 1,000 fo it =l
Cogr=IAF+B" 56G) ,
6 OstwaldFarben (o) 1 7
von maximalem (m)C,g 1 / PR

linearen Farbenraum (Cyg . Y) ‘,
Lichtart P00, ¥,,<100 Y, =4 9By
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Name Bereic X, ¥, v

R, 572_775 7034 4302 26 nsonk 020 oo 4'550
V) 496775 8927 947 7.07 0.4672 0.4957 575 467
G 496572 2311 5577 703 02689 06491541 541
C!'380.572 359 6107 8102 02017 03431491 600
B 380_495 1698 9.39 77.31 0.1637 00906 467 575
M, 572_496 83.14 48.32 7735 03981 02314 5416541
W}380_775 10208000 8106 0.3504 0.3531 100%
N,'360 775408 40 324 03604 03531 4%

2 330 775 1837 180 1459 03604 03531 18%
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